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FOURIER TRANSFORM: REPRESENT V AS SUM OF
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ANALYSIS EXAMPLE: LOWPASS FILTER
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TRANSFER FUNCTION: GENERALIZED GAIN Vour/Vin
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COMPLEX NUMBER REFRESHER
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TRANSFER FUNCTIONS (USUALLY) WiLL BE
RATI0OS OF POLYNOMIALS IN COMPLEX
VARIABLE s

WE Wikl LET s=jw TO GET FREQUENCY
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MAGNITUDE , PHASE OF STC LOWPASS
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/H(w) = Tant (0/1) - o (wRC[1) = - +ant (wRC)

EXAMPLE: R=7.5SkJl

C=1000 pF
RC= 7.5 ysec
MAGNITUDE PHASE
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1Hz ! - 0.003°
& Hz 1 -0.03°
100 0.9999 -0,27°
| KHz 0.99%9 -2.7°
OkHz 0.9046 -2572°
l00kHz 0.2076 -730 °
| MHZ 0.0212 f -88.8°
10 MHz 0.002] -89.9°
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PLOT (LINEAR SCALE)
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"BODE PLOT”: USE dB
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EXAMPLE: A = 50,000

20 log (A)= 20 % 4,7 = +94 (B



"3dR FREGUENCY
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GENERAL FORM OF TRANSFER FUNCTION
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EXAMPLE

A STC LOWRASS HAS A DC GAIN OF 20, AND
A 3d4B FREQUENCY OF 3 kHz. WHAT IS H(s)7"
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